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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Sem-II Examination July 2010 

 

Subject code: 320013 

Subject Name: Mechanical Operation 
Date: 08 / 07 / 2010                           Time:  03:00pm - 05:30pm 

Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic 
 

Q.1   Define the following terms :  14 

  1 Screen     2 Bulk density   3 Terminal velocity     4 Mixing index           
5. Sedimentation    6 Shape factor       7 Specific surface area 

 

    

Q.2   Answer the following question (Any Two)  

  (a) Differentiate unit operation and unit process with suitable example 07 

 (b) Write short note on open circuit and close circuit grinding 07 

  (c) Discuss various factor consider in selection  of  mixing equipment   07 

    

Q.3  (a) Explain Principal, construction and working of Rotary Vacuum Filter          08 

 (b) Discuss factor affecting Agitation                                                     06 

  OR  

Q.3  (a) What is critical speed? Derive equation of critical speed for Ball mill    08 

 (b) Define Kick’s law, Bonds law and Rittinger’s law 06 

    

Q.4  (a) List out various mixing equipment  explain any one in detail 08 

  (b) Explain Constant rate filtration and constant pressure filtration 06 
  OR  

Q.4  (a) Explain principal construction and working of Gyratory crusher 08 

 (b) Write Newton’s law and stack’s law for  terminal settling velocity 06 

    

Q.5   A screen of 10 mesh size made up of 0.1 cm thick wire is used for size 

separation. The ratio of overflow to underflow obtained is 0.75. The 

analysis of two fraction show the overflow contains 89 % oversize material 

& underflow contains 27 % oversize material. 

• Calculate the percentage oversize & undersize in feed. 

• Calculate the efficiency based on combined effectiveness. 

14 

  OR  

Q.5  (a) A certain crusher accepts a feed material having a volume surface mean 
diameter of 19 mm & gives a product of volume surface mean diameter of 5 

mm. The power required to crush 18 tons per hour is 10 hp. What will be 

the power consumption if capacity is reduced to 15 tons per hour?   

07 

 (b) Find out the critical speed of ball mill using following data 

Diameter of ball mill = 450mm     Diameter of ball = 25 mm 

07 
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��-1  �યા�યા  લખો. 14 

  ૧. �
�ન ૨. બ�ક ડ�સી� ટ� ૩. ટમ�નલ વેલોસીટ� ૪. મી !ગ ઇ�ડ  �  

૫. સેડ�મ%ટશન  � ૬. શેપ ફ*ટર �   ૭. �પેિસ.ફક સરફ�સ એ.રયા 

 

��-2  આપેલ 12ોના જવાબ લખો.( ગમે તે બે)  

 (અ) 8િનટ ઓપરશન અને 8િનટ 1ોસેસ વ:ચેુ � ુ નો તફાવત યો=ય ઉદાહરણ 

સાથે લખો.  

07 

 (બ) ઓપન સકCટ અને *લોઝ સકCટ EાFડ�ગ િવશે Gંકનોધ લખોૂ . 07 

 (ક) િમK ગ માટના � સાધનોની પસદંગીના િવિવધ LMાઓની ચચાN કરોુ  07 

��-3 (અ) રોટર� વેOમ .ફ�ટરનો િસPધાતંુ , બનાવટ અને કાયN સમQવો. 08 

 (બ) એRટશ� નને અસર કરતા પર�બળોની ચચાN કરો. 06 

  
�
��  

��-3 (અ) 
�ટ�કલ �પીડ એટલે Tં ુ? બોલ મીલ માટ 
�ટ�કલ �પીડU ંVWૂ તારવો� ુ  08 

 (બ) સમQવો  ૧. ક�*સ લૉ ૨. બYZસ લૉ  ૩. ર�ટ!જસN લૉ 06 

��-4 (અ) િમK ગના સાધનોની યાદ� બનાવી કોઇપણ એક સમQવો. 08 

 (બ) કY�ટંટ રટ .ફ�ટર અને કY�ટંટ 1ેસર .ફ�ટર સમQવો� . 06 

  �
��  

��-4 (અ) ગાયરટર� 
સરનો િસPધાતં� , બનાવટ અને કાયN સમQવો 08 

 (બ) ટમ�નલ સેટલ!ગ વેલોસીટ� માટ �8ટન અને �ટોકનો િનયમ લખો� ુ . 06 

��-5 (અ) ૦.૧ સે.મી. Qડા તારમાથંી ૧૦ મેશ સાઇઝની એક ચાળણીથી 

ચાળવાની .
યા કરવામા ંઆવે છે. ઓવર]લો અને ^ડર]લોની માWા 

૦.૭૫ છે. બ_ેં `*શન ના abથકરણ બતાવે છે ક ઓવર� ૃ � ]લોમા ં૮૯% 

ઓવરસાઇઝ અને ^ડર]લોમા ં૨૭% ઓવરસાઇઝ પાટCકલ છે. 

• ફ�ડમા ંરહલા ઓવરસાઇઝ અને ^ડરસાઇઝ ના 1� િતશત ગણો. 

• સ8ં*ુત કાયNદ તાના  આધાર � અસરકારકતા ગણો. 

14 

  �
��  

��-5 (અ) કોઇ એક 
શર ૧૯ મી.મી વો�8મ સરફસ મીન ડાયામીટરની .ફડ લઇને ુ �

૫ મી.મી વો�8મ સરફસ મીન ડાયામીટરની િનપજ આપે છેુ � . ૧૮ 

ટન/કલાક દળવા માટ � ૧૦ એચ.પી પાવર જોઇએ છે. જો  મતા 

ઘટાડ�ને ૧૫ ટન/કલાક કરવામા ંઆવેતો  કટલો �  પાવર જોઇએ? 

07 

 (બ) નીચેની મા.હતીનો ઉપયોગ કર� બોલમીલની .
ટ�કલ �પીડ શોધો. 

બોલમીલનો �યાસ = ૪૫૦ મી.મી          બોલનો �યાસ = ૨૫ મી.મી 

07 

 

************ 

 


